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Briefiy describe the maim phases involved in database design. :
Caonsider e following relations for a database that keeps track of employces working in =
Cepariment: %

. ..

IMPIOYEE({Brpno, Ename, Sal, Address, Bdate) |
m(&:ptna Dname, Loc}

M&M@W&%MM nyumpuomyoumakc

Write sry foor real-Tife applicatic - £ of DBMS

Wit are e responsibilities of 1 Ontabase Administretor (L BA)?

Differentizic between (e Relational and Network dats model.

Differectiate between composite key and composite attribute.

Difessatiaie betweoen logical deta Independence and physical data independonce.

-mwmmw;mmmm.mmm Consider a

ET0DERT Catndam: er, add'toaa, mobile numbex, hobby.'

m [s7 4 an. age);

Myﬁemwms}mgm mibwe(s) in the given relation, State
assumptions, if sny.
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@ Normalize the following relation up to third notmal form: ’

course_No, Course Name, Issue_Date) .
state your assumptions, if any.

) '
For the following schema ORGANISATION, write SQL statements to creato the tables by

EmloyeeInfo (Empid, Empfirastname, Emplastname,
Department: project, Address, pateofbirth, Gender)

gmployeeposition( Empid, Empposition, Dateofjoining, salazy)

Q3.
(a) Considering the figure given below:
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Determine the primary key attribute, composite attribute, and muttivalue
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pook (AccNo,  Title, Author, - Price, Stud No,  Stud Name,
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DEVAYTYERT | CONTROLS FTRGTECTS
TWPILOTEE {woexs 08 PRGIDCTS -
PROJECIS WETTLED BT | EESRCTIE i
VIAYER TLAY NG S :

Consider 2 COMPARY Stz aving e Soliowing TS

T PATYHERT ( Department morber, Wzm, TIoc=tien,

Prod ect_,rm)

PMPLOTEE (Esployee noebar, Saiary: 1diress, Dete cf birth,
Contact mmber, Project rimber, Depari...nt norbec]

203 {Project_name, P - ject nr>bers
iocation)

The following sre (os ssarplions:
s A Compeny bes wasy departsperts.

« Pach deparineat bus srolfiple i wyees.
» AnEmgloyee belongs 10 oaly ons department.

s Each dcpaetment controls muifiple projects. sod €
Egidyee.

» Each project s aadied by s +* -~ Panployee.

Drew sn ER Diagram fo¢ the CU! ¢+ MV database.
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A dagabese consists of the following Wlﬁﬁ? ;
oEeT (DNO. DNAME, HOD, DYm) )
COURSE (CNO, CNAME, NO_STUD:. pEPT
Wﬁnmmmmmm ‘

® Diqﬂwi\emunndnmbuofmmm‘mum. |

© (i) Uaﬂwmeof“sm”ﬁrwmmmswhmmww
before 2004
(i) List the departments without having HOD.

@) Display first four charscters of each department’s aame from the DEPT refation,

) Write a query fo creste a pew teble that consists of data and structure copied from
the DEPT relation.

What do you undersiand by dsta redundancy? What ar the disadvantages of dess redundancy? O

Answer the following: (e

How many PRIMARY KEY constrainis can 2 relation have?
Consider the following CREATE staternent:
CREATE TREBLE departments
{dept no NOMBER (2]},
Dept_nama VARCHARZ (14), :
Creation_date DATE DEFAULT SYSDATE); '
What wiil bappen, if the DEFAULT claose specification Is removed frosm the siatement?

Corsider the following CREATE sistement:
CREATE TARLE ‘departments

{dept no KuMBER (2) CONSTRAINT dept no_pk Primary Key,Dept_name
VARCHAR? (14}, Creation date DATE DEFAULT SYSDATE):

Wmmuﬁa\mhmw”ﬂ‘uwmmﬁw it a table level constraint?
Differentiate between ALTER aod UPDATE commands,

Consider the fotlowing relation: ‘
EMPLOYERS ( emp_no, ©MP_nawe, salary, birth_date,addrass)

Add » conztraint to the EMPLOVEES volation which restricts the addition of those
employees who have satarics e than 10000,



“mmmmws of the following:

(.’ wt“dlimu‘l 2
®) Stored #nd Derived stributes

© Mea-dsts
@ llad:N Relstionships
() Stroegand Weak entity scts

() SuperKey
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